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VAR

SM2%5A30BEE

HE IB{ERT Xy B ae HERR Ly ER e

1B M EKEHFF 1 1 6 5FHD 3 BB KX ZRMERT 2 FH o 1

2|F#RTIBEKXITF 11 6 9OFHMD 9 A TIE KX ZRIRET 1 2 FHD 1

B|FFRETIBEKXTF L 17 0FHD5 BETBEKX =ZRMERERT 1 2 FHO 3

A|FERTIBEKXITF L 17 0&FEMD 6 BT IE KX ZRIMRET 1 2 & 2

SIEFFAMIEKX=fR1 07 5&EHD 2 B KX =ZRMER 4 0 FH

6| IEKK =k 1 0 8 4 & FATIEKX =ZRWRET3 1&FHD 1 9

T|EFRETIEKX =R 1 0 8 4 HHD 2 FEHEKX=FRMER 3 1 {17

B|FEM B KX =fR1 0 8 4 HitbD 4 FATIEKX =ZRWRET3 9FH D 1 0

|FFRTIEKX=fR1 0 8 4 HHD 7 FEHBEKX=ZFRMFER 3 1FHD 16

10

FETEKX=R1 08 4&FHD 1

BEHBAKX =ZHFEMWERET2 8FE#D 1 5

11

FETEKX =110 8 6 FH#®D 3

B M KX = RWRET 3 7 F#o 4

12(BMHEKX =10 8 6 &FHD 4 FATIEKX ZRINRET 3 7 FHD 3
13[FMAMIEKX=fR1 0 8 6 &FMD5 BB KX =ZRMWER 3 7 FHD 1
14[3#MHEKX =R 10 8 6 FHD 6 FRATIE KX ZRINRET 3 7 FHD 2
15[FMMIEKX=fR1 0 8 6 &FMD 7 B KX =ZFRNER 3 1 HFHO 4
16[3#M M EKX =R 10 8 7&FHD 8 FRATIE KX ZRINRHET 3 2 /D 2
17(BREMIEKX=R109 0 &FHM®D5 FEHBEKX=FRMFER 2 8 FHD 1 1
18[E#M M EKX =R 109 0FHD 6 FEATIEKX =ZFRWRET2 6 FHtD 1 1
19[FMAMIEKX=fR1 09 1&M®D 2 BB KX =ZRNERT 2 6 FHD 5
20|F#RATHIBKX=R1 09 6 HE#HD 1 FRATIE KX ZRINRHET 2 6 FHD 7
21|FEHBEKX =R 109 6 &HHtbD 2 B KX =ZRNFERT 2 6 FHD 6
22|F#MTIBEKX=R109 7&HMLD 4 FRATIEKX ZRINRET 3 4 T 1




HE IB{ERT BYeing STERT BYangE
23|EEMTIEKE=MR109 7&EHDS B TIEKX ZRWERT 3 2 FHD 6
24|EEMATIEAKX =21 0 9 9 Fib A TIEKX ZRIRREET 3 3FHD 4
25|FEMTIE KX =R 109 9FEHD 2 B TIEKX ZRWER 3 3FHD 7
26|FRMTIE KX =R1 09 9&FMH®D 8 A TIEKX =ZRMREET 3 3FHOD 1
27|EEMMEKX=F110 0FHHD 7 FERTE KX ZRWERE 3 3FD 1 1
28|FRMMIE KX =R1 10 0&FHD 8 A TIEKX =ZRINRET 3 3FEHD 8
29|EEMMIEKX =21 10 15 FMATIEKX ZRWERT 3 1 FHD 9
30|BEHEAKX=F1 10 1&FH EHATIEKX =ZRINFEET3 1 HFHD 8
31|FMMEKX =110 2 & BRHEKX=ZRWERET 2 6 F#D 1 0
32|BMMIEKX=/R1 10 4FHD2 EATIEKX =ZRINRET2 5 FEHD 8
33|EEMTIEKX=R1 10 6&FMD 1 BHTEKX=ZRAWREITL 2FBO 1 1
34|ERMETIEKX=R1106&FMD 1 7T EEATIEKX=ZRNFEET3 1 FEHD 1 2 7T
35|FEMTIEKE=R110 6&FEHHD 2 FEHATEKX=ZRNWEIT3 1FEBD 10
36|FRMMIEKX=/R1 10 8&FH®D 2 A TIEKX =ZRIREET 2 5 FHD 3
37|EEMTIEKX=R1 10 8FHM®D 3 B TIEKX ZRWERT 2 5 FHD 6
38|FRMMIE KX =R1 10 8&FMD6 A TIEKX =ZRIRET 2 5 FHD 6
39|EEMTIEKX=R1 10 8&FMH®D 1 B TIEKX ZRWERT 2 5 FHD 4
A0|BEETHEKX=R1108&FHN11 EHATIEKX=RNRFEAT2 5 FEHD 1 0
41|EEMTIEKX=R1 10 8&FMD 1 BHTEKX=ZRWEIT2 5FHBD 1 1
42|ERMTIEKE=/R1 10 9&FEHD 2 A TIEKX =ZRIRRAT 2 6 FHrD 3
A3|EEMTIEKE=R11 1 4FHDT IL—X BRATEKXZRWEIT2 4 FHo 11 TL—X
A|BEEHEKX=FR1 11 4FHD 2 FEETEKX=RFRWEREET2 1 FHo 1
A5|EEMTIEKE=R1114FEHD6 FBRATEKXZFRWET2 1 FHD 2
A6|BEMATHEKX=R1 11 4FEHDT FREMEKX=ZRWER2 1F{F#D 10
AT|EEMTIEKX=R1114FEHDS8 FERATEKXZRWET2 1FHD 3
AB|BEMIEKX=k1117&FHDI1 Az —2ll FRRETIEKX Z(RINRET 2 9 FH#D 1 A7z —2ll




B IB{ERT ety B e FTERT EYBinE
9|EEHBEKX=R111 7FEBDL Aud x—lll FBRATEKXZFAWER 2 9F#o 1 A7z —2lll
S50|F M mBEKX=R1118&FH®DS3 FRE AKX =ZRNER 3 0 FHD 6
S{EFMMBAKX=R1 11 9FH KX ZRIWNRAET 3 0 F#Ho 4
52|BEmIE KX =121 12 0&#HD 1 L—Fz /Fz FEE AKX = RIWERE 3 0 o 2 L—Fx NFz
BI[EEMEMIBAX=R1 12 1FEHD4 EMTEKX =ZFNEET L 7EHD 15
SA(BRMTIEKX=R1 12 1FEHDS BB ZRWNER 1 8 FHD 9
S5(BFMEMBAX =R 1 1 2 2 &FH AT —1 | B AKX ZFEWNRAT 2 9 FHo 1 AN Tz —1a |
56|FEmBEKX=R1125&FHD1 FRRETIEKX Z(RINRET 3 2 FH#D 7
57(BRMMIEKX=R1 12 5FHD 2 B EKX ZRNRAET 2 9 FHo 7
h8|Em B AKX =121 13 1&H E4—>1131 FREMEKX=ZRWE 2 5F#D 1 2 E4—51131
5O[ERMMIEKX =R 1 13 2FHD 1 FEHEKX ZRWNRET 2 7 FHD 9
60(FREMIEKX=fR1 13 4FHnD 1 FRRETIEKX Z(RILRET 2 8 FHHD 1 7
61{ERMMIBEKX=R1135FHD1 FEHEKX ZRINRE 2 8 FEHOD 5
62(BMMIEKX=R1 13 5FHMD 1 FHHEKX ZRWNER 2 8 FHD 9
63[ERMMIBEKX=R1 13 5FHD 1 KX ZRINRET 2 8 FEHD 6
64(BRMTIEKX=R1 13 6FHD 1 FE KX ZRWNERT 2 8 FHD 2
65(BFMMIEKX =R 113 6FHD 1 B KX ZRIWRET 3 0 F#Ho 9
66|FEMmBEKX=R1 13 6&FHMD?2 FRRETIEKX Z(RINRET 2 8 FH#HD 3
67(B4MMIBEKX=1R1 13 6FMD?2 BEHMTEAX =ZFNERET3 0F#o 1 1
68|FHMmBEKX=R1 13 6&FHD3 FRRETIEKX Z(RIRET 3 0 FHD 1 5
69[ExM B KX =R 1 1 3 6 FHD 4 EMTEKX =ZFNEEIT3 0FH#D 1 0
70|FMHEKX=R1 13 6FMD1 FHHEKX =ZFENRA3 0FD 1 7
T1EEHEKX=HE1 13 7FEHBD 2 AKX ZFWNRAT 3 0 FHo 1
2|EEHBEKX=F11 3 8&FH FHmEKX=ZFENRATL 7HEBO 10
T3|EEHEKX=F1139FHD1 EMTIEKX =ZFNEET 2 8 FHD 2 5
TA|FRRATEAKX =R 11 3 9FHD 2 FE AKX ZRNERT 2 8 FHo 3 3




B IB{ERT ety B e FTERT EYBinE
75|EmAHEKX=HE1139FHDS F KX ZRINRET 2 9 FHD 6
76|EEMATIEAX =R 113 9F D19 FHHEKX =ZFNRA 2 8FHD 3 0
TT|EERATHBEKX=R1139&FHD20 EMTEKX =ZFNEET 2 8FHD 2 4
T8|EMHEKX=R1 14 1FEHD 2 BB ZRWNERRET 2 7 FHO 3
T9|EEHBEKX=R1 14 1FHDG FEHEKX ZRNRET 2 7 FEHD 6
BO[FHMMBEKX=R1 14 4 FHoD?2 FH AKX =ZRNERT 2 7FH0 1 2
81|B4M M BEKX=1R1 14 6FH AKX ZRWNRET 2 8 FHho 2 2
82|E#MATHIE KX =1R1 14 6 & FHHEKX=ZFENRAT2 8FHD 1 9
83|FMMBEKX=R1 14 7FH B AKX ZRWNRAET 2 8 FE#HD 1 8
B4|FMMBEKX=R1150&FHD1 TXbL—EHRAI B FRETIEKX ZRINRET 2 1 F#D 7 IR bL—FERAIN BiE
85|FaMMBEKX={R1151FHHD1 FEHEKX ZRINRAET 2 2 FHo 9
86[FHMMBEKX=R1 15 2&FHD1 TR bL—EHRAI AR FRETIEKX ZRINRET 2 1 HF#D 7 TR bL—FRAN AME
87|FaMHBEKX =115 2FHD?2 FE AKX ZFNRAT 2 2 FHo 1
83|FMM AKX =fR1 15 3&FH®D 3 FRETIEKX Z(RIRAT 1 8 FH#HD 1 4
89|FMHBEKX =115 4F D1 EMTEKX =ZFNEET 1 8FH#D 10
W|FFMMBEKX=fR1 15 4FHD3 ErE AKX =ZRNER 1 8 FHo 2
91|FMMBEKX=R1 15 4FEHD4 KX ZRIWNRAET 1 8 FEHD 6
R2(FFMMBEKX=fR1 15 4FMD 8 EE AKX =ZRNER 1 8&FHo 4
93|EMMBEKX=R1154FHDI IFIN/ h—H BETEKX=ZFMEITL 8FHHD 1 1 IFIL/h—H
94|EERATHIB KX =R 1 15 5 &t FHHEKX ZRWNERET L 7 FHO 9
B|EMHBEKX=R1156FHHD1 EHMTEKX =ZFNEETL 7EHD 1 7
96(FHMMBEKX=R1 15 6&FHD1 FRE KX ZRIRAT 1 7 FHD 1 3
97|FEHBEKX=HR1 15 7FEHD ] B HEKX ZRWNRAET L 7 FEHo 7
OB|FRMMBEKX=R1 15 7FEHD?2 FRETIEKX ZRIMRET 1 7 FHD 5
99|FMHEKX =115 8&FHD 4 BEMTEKX =ZFNEET2 8FH#D 1 3
100[EMEMEKX=fR116 1&FHn 1 ERE AKX =ZRMERT 2 1 FHo 9




B IB{ERT ety B e FTERT EYBinE
101[EmHEKX=1%1 16 2 & IR ML—EEAI CHE B AKX ZENRAT2 1 FHo 8 IR ML—EHAI CHE
102|EmMmEKX=HF1 16 5FMHD 1 AR SoD T N s Ly FETEKX=RWFE 2 6 FHD 1 4 7 -N=>a2b0ovy
103|E#MMmEKX=R116 9FHD 2 FETEKX=ZRNERT 1 8&FHD 1 9
104|BMmEKX=R1 17 0&FHD 2 EE AKX =ZRMER 1 2 Fo 7

105(B MM EAKX=R1 17 1&EHD1 BEMTEKX =ZFWERET 1 7&#0 18

106|F M mEKX =117 6 &FHMD 1 EE AKX =ZRMER 1 1 FHo 2

107(BMHEKX=R1 18 1&FHD1 FE AKX ZFWNRAT 2 0 FHo 1

108|E#M™EKX=R1 18 1&FH®D 1 BERANA Y FBHMEKXZFENRE2 0FHO 10 |[FERANAY
109|E#MmEKX=R118 1FEH#HD 2 FRETBEKX ZRINFERT 2 8FHD 2 1
110[EM™EAKX=R1 18 1HFEHD5 EE AKX =ZRMERT2 0FHD 1 0
111|EMmEKX=R1 18 1FEH#HBD5 FRETBEKX ZRIVAHT 2 8 FHHD 2 8

112|FMmEKX =118 1&HFHMDS5 BERANAY FETEKX=RWFE 2 0F#D 1 0 FERANA Y

113[B MM EKX =R 11 8 6 FEHD 2 FEATIEKX ZRWERT 9 FHbo 2
114|BMmEKX=H%118 6&FHMDS5 R TIE KX Z(RIARET 9 FH D 5

115(B MM EKX=R1 18 7&FHD 1 FEATIEKX ZRWERT 9 FHbD 8

116[FMMBEKX=R1 18 7&FMD 3 FRE AKX ZRINEET O FHhD 7

117(EEHE KX =1%1 1 8 8 Fih ™ EKX =R WMRAT 2 0 FHo 8

118[E MM AKX =121 18 9&FHD 2 FHHEKX ZFEWNRR 9 FHD 1 8

119[B MM EKX =/ 118 9FHD 3 EHATEKX =ZFENERETI FEHD 1 7

120(B4MHEKX =121 18 9&FHD 4 FHHEKX ZRWNRR 9 FEHD 1 6

121 |E#MmEKX=R1 18 9FHDS5 FE AKX =R 9 FHD 1 3
122|BmmEKX=F118 9&FHD6 FETEKX =RFE 9 FHD 1 2

123[B MM EKX =R 118 9FHMD7 FEHEKX ZHENRAE L 1o 4

124|FMmEKX =119 1&FH#HD?2 T KX = RERT 9 T 1

125(B MM EKX=/R119 1FHD3 KX ZRIRET 9 Fibo 2 2

126

BEHEKX=F119 1&Hn4

BT KX = RIWRET 9 B 2 1




B IB{ERT ety B e FTERT EYBinE
127(BMHEKX=/R1 19 1FHDS B TIEKX =ZFEWERET9 FEHD 2 0
128[E#MMBEKX=R119 1HFEMD6 EE AKX =ZRMERT 9 FHD 1 9
129|E#MmEKX=R1 19 6FEHD?2 a—RFzl— FRETEKX =ZRWERT 1 0 FHo 2 a—FRFzlU—
130|F M mEKX=R119 6&FEHDG6 EE AKX =ZRMERT 2 0 FHD 5

131[BM M EAKX=/R119 6 FHDT KX ZRWNRAET 1 0 F#Ho 3
132(EMHEKX=%119 6 FH#D8 FEHEKXZRWNER 1 0 FHD 5
133[EmHEKX=1%119 9&FH B AKX ZFENRAT 1 0 FHo 1
134(EMHEKX=%12 0 9FH#D 3 FEHEKXZRNERE L 2FHO 4

135[B MM EKX =R 12 1 4FH 7Ly FEHEKX ZENRET L 7FH0 2 1

136|FMmEKX =12 15&FHMDS5 ErE AKX =ZRNER 1 3&FHD 2
137|B#MMEAKX=R12 1 6 FHho 2 BHELXAI— =R FEMTIEKX=ZFWERT 1 6 FHbD 5 BEELZ(3I— ZRE
138|EM M AKX =R122 0FHD 17 FEHEKX=ZFENERA L 7F o 1

139[BM AKX =1%1 2 2 2 &b FEMTIEKX ZRWER 1 FHD 3

140|B M mEKX =12 2 3&FMD 1 B MEKX =ZRNERT 1 FHHBD 1 6

141 [BETEKX=R1 2 2 3FHD 2 Le-Uv¥>C FRE AKX ZRRERT 1 FHD 1 2 Le-Uv¥>C
142|#EmEKE=R1224FHD1 FAa—HFA FETE KX =RE 1 FH#D 1 3 TAR—FA
143|BMMBEKX=R1 22 4FHD 1 FaO—4%B FRE AKX ZRRERT 1 FHD 1 3 TRA—%B
144|ERETEKX=R1 2 2 4 F o 1 Ta—%C ERE AKX =ZRNER 1 Fo 1 3 FA—4%C
145|BMMBEKX=R1 22 4FHD 1 Fa—4%D FRE AKX ZRRERT 1 FHD 1 3 TR—%D
146|FEMBEKX=1R1 2 2 4 FHD 2 Le--U¥>A FETE KX =RE 1 FH#D 1 2 Le-Uv>rA
147 [BRETEKX=R1 2 2 4 FHD 2 Le-Uv¥>B FE AKX ZRNERT 1 FHD 1 2 Le-U¥>B
148|FEMBEKX=1R1 2 2 4 FHD 2 Le-U¥>D FETEKX =RER 1 FHD 1 2 Le:Ux¥>D
149|B#AMIEKX=1R1 2 2 6 F#HD 3 7RI RZR FBETEKXZFWET 1 5 FHo 1 TR ZA=R
150(BMHEKX=1R12 2 6&FH#Hn1 3 FHHEKX=ZFENRAL 5FEMD 1 4

151 |B MM EKX=R122 6FHD2 9 FEmEKX ZFNRAT] 4 FEHO 1 6
152|EMEMBEKX=R1 22 6FMD3 1 B MEKX =ZRNME L 4 FHo 1 4




B IB{ERT ety B e FTERT EYBinE
163[FHMMEKX=R1 22 6 FMD4 1 FETEKX =ZRNERT 1 3FHD 2 2

154(BmHE KX =R 122 6 FHD4 4 FEHEKX ZRWNEA 1 3FHRD 1 8

165(BMMEKX =R 122 6 FHD4 7 FEHEKX ZFNRAT 1 3FMD 2 5

156|F M mERKX =11 2 3 9 &HH#H EE AKX =ZRWERT 8 FHD 1 5

1657(B MM AKX =/ 1 2 3 9&F#h H—Y% - 77—-21 KX Z R WRET 8 FEHbod 1 h—Y% - 77-x1
1658|F M mERKX =11 2 3 9 &HH#h A=Y+ 77—l R TIEKX Z(RILRET 8 THHED 1 h—H-77—=XIl
159|B#MMIEAKX=R1 2 4 3&FH®D 2 ZIT7h—Y FERATIEKX ZRWER 4 FHbo 2 ZIT7h—Y
160|F M mEKX =11 2 4 5 &HHh FE AKX ZRNERT 4 FHoD 1

161|E MM EKX =R 12 4 5FH#D 3 B TIEKX ZRWER 8 FHhD 7

162|FMmEKX =12 4 5 FHD4 FE T EKX ZRINEHT 8 FHHED 6

163|EMmBEKX=R1 24 7FHD 1 FRE B KX = RINRET 6 T D 1

164|FMmEKX =124 7FHD 2 FRE T EKX ZRINEHET 6 FHHED 9

165(B MM AKX =R 12 4 7FHD 3 FEATIEKX ZRWERT 6 T 2

166|F M mEKX =12 4 7FHD 4 FRE T EKX ZRINEHET 6 FHHED 4

167(B MM EKX=/R12 4 7HFHDS FETIEKX ZRWERT 6 FHbD 6

168|F M mEKX=R1 24 7FHD6 FRE T EKX ZRINEHET 6 FHED 7

169[B MM AKX =R12 4 7THFEHDT FETIEKX ZRWERT 6 FHbD 8
170(BmMHEKX=1%125 0FH#D 3 BB ZRWNFER 6 FEHD 1 6

171{E S EKX =% 125 1&H KX ZRIRET 6 FiHbo 1 2

172|FMmEKX =125 1&FHD 2 Z - A== FHE T KX =REET 5 FHHD 8 7 XA—IL=1R

173

FEmEKX=R1 25 1FHD 3

FRATIE KX ZRINRHET 8 T D 4

174

B HIE KX = RIRRHET 5 FithD 3

175

FEMIEKE=/R1 25 4 Fit

B THIBNKX ZRWERET 5 FH#o 4

176

FEHBEKX=R1256&FLD1

FRE B KX = RNFERT 4 FHitD 5

177

2

2

2
BEMEKX=R1252FHD 1

2

2

2

FETEKX=fR1 25 6&FHD1

BEHIBNKX =R WERET 4 F#HD 5

178

FEHBEKX=R1257&HBD1

B TIE KX = RIRRHET 5 FitbD 5




=E IR{EFT B rE HEFT BYRINE
L79|B#ATIEKX=fR1 2 5 7 &F#HD 2 R IEKX = RNERRT 4 FHitbD 9
180|B#ATIEKX=fR1 25 7 &FHD 2 B KX ZRNFERT 4 FHHtD 6
181|F#M™IFKX=fR1 2 5 8 &FM®D 2 B KX = RNRR] 5 FHithod 7
182(BH KX =fr1 25 9&FHD 1 FRE B KX ZRNFR 4 Hitbd 8
183| B ™IFKX=R1 2 6 3&FEMHD 1 R IEKX = RNERR] 7 FHitD 5
184| BB =FfR12 6 3&FEMD 10 BB KX =ZRNFERT 5 FHHD 1 0
185|E#ATIEKX =R 1 2 6 3&EMD 1 1 FRE B KX = RINFRT b FHitD 9




